LIRS

No.1
IR & g By | BHE | TEHE & &
Ml - HEE2SH-1 |[HPPE(EFZ O HZEE) L=5.00m ¢ 50 x 14
BiKEAHZ T |HPPE(EE) L=5.00m ® 50 PN 7
HiVP  L=4.00m ¢ 50 x 1
" ¢ 25 x 1
EFRUK (H52) ¢ 50 x 45° {(E] 4
EFF—X (M%) ®50 % ¢ 50 & 3
EFV4 vk ¢ 50 & 3
ANEE RUER) 50 x 45° & 2
ANEHE (BEER) @50 X 45° & 1
EREEAANEMEPXV) 50 x 45° & 1
PVUaAk ¢ 50 & 1
ERFERANETEE $50(P) x ¢p40(V) & 1
BV GRIUER) 17+ ¢ 50 & 1
SKXV 4k (BRKFARYE x EEE) | #50(P) x ¢25(V) | A 2 XREHLUE
HITJLAR b 25 & 4
MC1=#> ¢ 50 & 1
" ®25 {& 2
BRI —b W=150S m 108.9 104.6+2.3+2.0
RUIFFRET ¢ 50| FRBL U @50 = 3
BV GRIUER) 17+ ¢ 50 & 6
TtUH=E H=600 4 3
HWAKOEBL  ([HRILE2KE KRIER) @50 ¢ 20 1@ 8
ISRYIAVk ¢ 20 & 8
HiVP 1 =4.00m ¢ 40 x 1 2.0m7AER(2.0m x 144)
" 20 x 6 22.0m#TE%(3.5m X 444, 2.0m X 444)
HiV vk ¢ 20 & 8
" $20%x p13 & 3
HITJLAR ®20 & 16
Hif vy ® 40 1& 1 KIEFERA
SKXTIRUEEER) ¢ 40 & 2 XREmMUE
BRI —b W=150S m 19.5 19.5m#7E%(3.0m X 44, 1.5m X 54)




LZREE S

No.2
RIRA e g By | BHE | TEHE & &
il - ERESM-2 |HPPE(EFZ O HZHEE) L=5.00m ¢ 50 x 14
BEEKEMRZ T [HPPE(EE) L=5.00m ¢ 50 X 3
SGP-VB  L=4.00m $50 X 2
EFRUK (F5%) ¢ 50 x 45° & 1
AHEHE GRUYER) 50 X 45° & 2
AHBTSUUEE ®75(F)x ¢50(P)| & 1
TV MFH b75 1@ 1
ERERAAHEME (PxHE) ¢ 50%x90° & 2
BV GRIUER) 1va7 i+ ¢ 50 & 1
VBRI (EHHEEF) ¢ 50 & 2
VBRYVZ Y (iR BEF) ¢ 50 & 1
RS —b W=150S m 82.0 65.0+17.0
RUIFFRET ¢ 50| FRB LU @50 = 1
BV GRIUER) 1va7 i+ ¢ 50 & 2
TtUH=E H=600 b3 1
HWKOEL  ([URILE2KE GRUER) $ 50 % 20 1@ 8
IZRVaqrk ¢ 20 & 7
ISAPaA>hPPER) $20 1@ 1
HiVP  L=4.00m ®20 PN 7 24 AmTAER(4.0m X 54, 2.2m X 24)
Hiv 4k ¢ 20 & 7
" $20%x $p13 & 4
HITJLAR ¢ 20 & 14
RUZFLURAT(158) 2[B%E ®20 m 1.0
SKXTILAR(PPER) 20 & 2 XREmMUE
BARI—bk W=150S m 214 21.4m#TER(3.5m X 5. 1.7m X 244 0.5m X 14£)




FHE

No.1
BRIR4 E2E g BHOHBE|TEHE B &
Wil TA-EEmSs-1|RY IFLUERERT @50 m 104.6 70.0+34.6
EEKEMRL [RUTFLOBEHFI (REES) $50 10O#F [ O 14
" ¢50 208F | &FF 10
RYIFLUEYMT ¢ 50 a 13
AN=HIBFTGRYER) $50 A 8
AN=HILHBFITUREER) ¢ 50 A 4
RUIFLUOEHRFT 50 a 3
" ¢ 25 A 2
HENOREERLAAES ®50 A 1
E-——ILEHRZT @50 m 2.3
" ¢ 25 m 2.0
TSHEFET ®25 a 8
HFHHRI—k m 108.9 104.6+2.3+2.0
WKEERT HKEFRE H 0.05 108.9m/2,0008=0.05H
HABREIL 450 | LY HBBL ¢ 50 = 3
RUIFLUOEHMFT 50 i 6
HENOZEERLAAES ®50 a 6
FREFJRET H=600 #A 4 BEESD
HERE ® 4 BEREST
KB HRILDKRFRETL GRUER) »50% ¢20 1 8
HENOREERLAAES $20 A 8
AN=HIHBFITUREER) 40 A 1
RUIFLUEHRFT ® 40 a 4
E-——ILEHRZT ®40 m 20 2.0m7AE%(2.0m x 144)
" $20 m 22.0 22.0m#iER(3.5m X 44F, 2.0m x 444)
TSHEFET ® 40 a 1
" @20 a 51
" 13 A 3
FHHRI—k m 19.5 19.5m#TER(3.0m X 444 . 1.5m X 544)




FHE

No.2
BRIR4 E2E g BO | HBE | TEHE B &
mE wE-ERmSs-2RYTFLUBEMET ®50 m 82.0 65.0+17.0
BEKEMZRL [RUIFLUOBEHRFI (REES) ®50 10#F [ O 14
" ¢50 20#F | &FF 1
RUIFLUEYMRT ¢ 50 a 7
AN=HIBF T GRYER) ®50 a 7
ANZABF T EHER) ¢ 50 a 2
TSUTHFL ®75 i 1
RYUIFLUEMRFT ®50 a 1
HE DT ¢ 50 A 3
HENAOZEERLAAES ®50 = 7 BhlvryrEas
HE/NMORERLYYI ®50 A 6
HEMZT ®50 m 5.7
HFHHRI—k m 82.0 65.0+17.0
EKHERT HKEFRE A 0.04 87.7m/2,000H=0.04H
HORZBEL o450 [ LU RBBT ®50 = 1
RYUIFLUEBRET ¢ 50 i 2
HENOREERLAAES ®50 a 2
FREFJRET H=600 #A 2 BEESD
BERE L5 2 BEESD
KB HRILDKRFRETL GRUER) »50% ¢20 1 8
HENOZFEERLAAES ®20 a 8
RYIFLUEMEKRT ®20 m 10
RUIFLUEHRFT ¢ 20 A 5
E-—ILEHRET ®20 m 24.4 24 Am7E%(4.0m X 544, 2.2m x 244)
TSH#HFT ¢ 20 A 46
17 $13 A 4
FHHRI—k m 21.4 21.4m#TER(3.5m X 54, 1.7m x 24, 0.5m X 1)




T I 8 = X No.1
£ ¥R BO® W B # =3 HEtHE
T SThT- B BET2S -1
EKEMBZLT |MERKEL H=600 HEd. @ 060 m X 0723 m X 1089 m 4724 m3 50
HHERLT FAEFVT | BHED. O 060 m X 0263 m X 1089 m = 17.18 m3 20
MR T P EO) 060 m X 0290 m X 1017 m = 1770 m3
EQ 060 m X 0360 m X 72 m = 156 m3
&it = 19.25 m3 20
EFiuoET = 2585 m3 30
TREREET (HED) t=10cm RC-30 060 m X 101.7 m = 61.02 m2 61
TE®RET (FHEd) t=Tcm M-30 060 m X 101.7 m = 61.02 m2 61
BT (BEQ) t=11cm RC-30 060 m X 72 m = 432 m2 4
RAsEHZET t=3cm FH AT 060 m X 72 m = 432 m2 4
AEIRAsTHET (ANAEI] t=4cm oo 080 m X 72 m = 576 m2 6
AsEiZE R U1 T t=4cm 72 m X 4 % = 2880 m 29
AsEHEERRER T t=4cm 080 m X 72 m = 576 m?2 6
R AsEiZE IR B R T t=3cm 060 m X 72 m = 432 m2 4
AsERETEM -0 T = 036 m3 0.4
WKEMZL |[HWKEL H=600 060 m X 0686 m X 195 m = 803 m3 8
BHERLT RRFT 060 m X 0226 m X 195 m = 264 m3 3
BHERLT H=600 060 m X 0290 m x 195 m = 339 m3 3
EBiuoET = 426 m3 4
TRERET t=10cm RC-30 060 m X 195 m = 1170 m2 12
tERET t=7cm M-30 060 m X 195 m = 1170 m2 12
RAsEHZET t=3cm FH AT m X m = 0.00 m2
AEIRAsTHET (ANAEI] t=4cm oo m X m = 0.00 m2
AsEHZERR YT T t=4cm m X & = 000 m
AsEHEERRERE T t=4cm m X m = 0.00 m2
{RAsEHIERRIE R T t=3cm m X m = 0.00 m2
AsERETEM -0 T 000 m3




T T HE X No.2
£ TR BO® W B # =3 B
T STHT- B BET2S 482
EKEMBRLT |MERKEL H=600 wEd. @ 060 m X 0723 m x 820 m = 3557 m3 40
BHERLT FARFYT | BED. D 060 m X 0263 m X 820 m = 1294 m3 10
HHERLT HeET #rEd. @ 060 m X 0290 m X 820 m = 1427 m3 10
EFiuoET = 19.72 m3 20
TEREET (Had. ) t=10cm RC-30 060 m X 820 m = 4920 m2 49
EEERET (HED) t=7cm M-30 060 m X 810 m = 4860 m2 49
ITERET (@) t=8cm M-30 060 m X 1.0 m = 060 m2 0.6
RAsEHZET t=3cm FRHL 060 m X 10 m = 060 m2 0.6
AEBASHET(AABRI] t=dcm R 080 m X 10 m = 080 m2 0.8
AsEHZERR YT T t=4cm 10 m X 4 = 400 m 4
AsEiZE IR BER: T t=4cm 080 m X 10 m = 080 m2 038
R As TSR IR B R T t=3cm 060 m X 10 m = 060 m2 0.6
AsERETEM -0 T = 005 m3 0.1
WKEMZL |[HWKEL H=600 060 m X 0686 m X 214 m = 881 m3 9
BHERLT RRFT 060 m X 0226 m X 214 m = 290 m3 3
BHERLT H=600 060 m X 0290 m x 214 m = 372 m3 4
BIMET = 467 m3 5
TRERET t=10cm RC-30 060 m X 214 m = 1284 m2 13
tERET t=7cm M-30 060 m X 214 m = 1284 m2 13
RAsEHZET t=3cm FH AT m X m = 0.00 m2
AEIRAsTHET (ANAMEI] t=4cm oo m X m = 000 m2
AsEHZERR YT T t=4cm m X & = 000 m
AsEHEERRERE T t=4cm m X m = 0.00 m2
{RAsEHIERRIE R T t=3cm m X m = 0.00 m2
AsERETEM -0 T 000 m3




650 HPPE B &K % 4

B XK BA#A T TEMT - AR A T2 B -1

UEE (m) DHNS

7% (m) Y T
=] forcs s 4 e
5 OB M 'O ERE z u . i &
5]
-1 Z.-1 Z.-2 Z.-3 Z—4 (OO (m)
1
ERE
HPPE
B = 50
zZ o
%
z-1 z.-2 z.-3 4 Z-5 HEE|  5.000
HPPE 50 5. 000 5. 000 5. 000

HPPE 50 5. 000 3. 400 1. 500 4. 900 0. 100 2
HPPE 50 5. 000 3. 000 1. 000 1. 000 5. 000 2
HPPE 50 5. 000 4. 200 0. 700 4. 900 0. 100 2
HPPE 50 5. 000 4. 500 0. 500 5. 000 1
HPPE 50 5. 000 2. 800 1.700 0. 500 5. 000 2
HPPE 50 5. 000 1.500 1. 300 1. 000 1. 000 4. 800 0. 200 4
2 35. 000 24. 400 6. 700 2. 500 1. 000 34. 600 0. 400 13
35. 000 24. 400 6. 700 2. 500 1. 000 34. 600 0. 400 13




50 HPPE Fd /K %

b E K Belid T ERT - R T2 B2
UEE (m) DIHNTJ
BOEM B R |0 ERE SR | I %
A
-1 Z.-1 Z.-2 Z.-3 Z—4 (OO (m)
HPPE 50 5. 000 4. 800 4. 800 0. 200 1 1
(=g
HPPE
= 50
0 g oE
%
z-1 z.-2 Z-3 4 Z-5 HEE|  5.000
HPPE 50 5. 000 4. 000 0. 800 4. 800 0. 200 2
HPPE 50 5. 000 2. 000 2. 000 4. 000 1. 000 2
HPPE 50 5. 000 1. 600 1. 800 3. 400 1. 600 2
2 20. 000 12. 400 4. 600 17. 000 3. 000 7
20. 000 12. 400 4. 600 17. 000 3. 000



$50 HiVP B K % ) & & Bomd o T JOHT - AR T2 R
UEE (m) DIHFNT]
: o
B mm R |D ERE S R (m) ST W

Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)

HiVP 50 4. 000 2.300 2.300 1. 700 1
(=g
HiVP
= 50
HEE|  4.000
3 4. 000 2. 300 2.300 1. 700
4. 000 2.300 2.300 1. 700




$25 HiVP fd K & W B F Bomd o T JOHT - AR T2 R
UEE (m) DHNS
7% (m) Gkr T
=] Poris sz e
5 OF M 'O ERE z u . i &
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 HIVP 25 4. 000 0. 500 0. 500 0. 500 0. 500 2. 000 2. 000 1
pores
Egi
HiVP
HR= 25
HEE|  4.000
i 4. 000 0. 500 0. 500 0. 500 0. 500 2. 000 2. 000
4. 000 0. 500 0. 500 0. 500 0. 500 2. 000 2. 000




$50 SGP-VB fl K & b F K Bomd o T JOHT - AR T2 R
UEE (m) DIHFNT]
= Par Pirs A o "’SE t *I
&R OEW R |OERE " RE (m) 2 W o
0 g -
Z.-1 Z.-2 Z.-3 Z.—4 Z.-5 (OO (m)
1 SGP-VB 50 4. 000 4. 000 4. 000 1
=g
2 SGP-VB 50 4,000 1.100 0. 300 0. 300 1.700 2. 300 3 SGP-VB
= 50
HEE|  4.000
2 8. 000 5. 100 0. 300 0. 300 5. 700 2. 300 3
8. 000 5.100 0. 300 0. 300 5. 700 2. 300 3




